VIR TE R
1 ERTEH

HZEROGHEE ¢ 2.99792458 x10'% cm s~ (exact)
R VACEA T e =q./V4mey 4.80x10710 esu (CGS)
ge = ev/4meg 1.60x 10719 C (SI)
(%] = [(qe/4me0)?] M L? T2
ELZEDFHER €0 = (1/4mc?)x107 8.85x10712 F m~! (SI) (exact)
1/4meg = ¢ x 1077 8.99x10°% kg m3 s=2 C=2 (SI)
g2 /Ameg 2.31x10728 kg m® s=2 (SI)
FLZEDBERGHE o = 4rx1077 1.26x107% H m~" (SI) (exact)
VAR = h 6.63x107%7 erg s = 4.14x107 eV s
h=h/2m 1.05x107%7 erg s = 6.58x10710 eV s
he 197.3 MeV fm
(7] [ML*T~]
HIER G 6.67x107% dyn cm? g2
6] ML)
RS o 2 e = €2/hc(CGS)= ¢? /4meohc(SI)  1/(1.37x10%) = 7.30x1073
HOBAIRSE R ag = Gm]/he 5.90x10~3?
T AN A N 6.02x10%% mol~*
Ry 2 Vv ER k 1.38x10716 erg K—! = 8.62x107° eV K~!
=7+ up = eh/2me 9.27x1072! gauss cm?
2 k<
cm pc light year AU
cm 1 3.24x107 19 1.06x10°® 6.69x10~ 14
N—E 7 | 3.09x1018 1 3.26 2.06x10°
JEAE 9.46x10'7  0.307 1 6.32x10*
RICHAL | 1.50x1013  4.85x1076  1.58x10° 1
Broay 7t vk Ap = h/mpe 1.32x107"% cm
Ap/2m = h/myc 2.10x107 cm
Broary 7 vk Ao = h/mec 2.43x10719 cm
/27 = h/mec 3.84x1071 cm
W R re = €2 /mec? 2.82x10713 em
R— 7% ag = h?/mee? 0.529%1078 cm
7R (Gh/c3)1/? 1.62x1073% cm
Y2 — FRYER Roo = 2m*meet /ch®  1.10x10° cm ™!
1 keV DNT DR he/1keV 12.4x107% cm = 12.4 A
N Bt R 6.96x10'° cm
bR Rg 6.37x10% cm
SRR LD & KB o ~ 10 kpc (cf. TAU 8.5 kpc)
FRI R DIERE ~ 25 kpc
SR D IE R ~ 3 Mpc
3 Mi&
b Ay VEELWTER orn = 87r2/3 6.65x10725 cm?
A — 7 HED IR mad 0.880x 10716 cm?
PN ESIEL 4 R% 6.09% 1022 cm?
BRI R 4w RZ 5.10x 108 cm?
4 BB
IR EREES 3.6526x10% H = 3.1558150x107 s
1 H 24 h = 1440 min = 86400 s

77 v oM (Gh/)Y? 5.39x107% s



5 BE
RN mp 1.67x107%4 g
BrOH=R Me 9.11x10"8 g
PrrdE R mp/me 1.84x10°
VAt (he/G)V/? 2.18x107° g
N Mg 1.99x10% g
HIBRE = Mg 5.98x10%7 g
HURE R Mg ~ 2x10" Mg
FHOHE R My 10%4 ~ 10%6 g
6 IXILF—
eV erg cm™ T Hz K
eV 1 1.60x10712  8.07x10° 2.42x10"  1.16x10*
erg 6.24x 10" 1 5.03x10'%  1.51x10%% 7.24x10'
em~! | 1.24x107%  1.99x107%¢ 1 3.00x10°  1.44
Hz 4.14x107%  6.63x10727  3.34x10~' 1 4.80x10~ 1
K 8.62x107°  1.38x1071¢ 6.95x107!  2.08x10'0 1
KEDIIRIREED Z 2V X —  mee? /207 13.6 eV = 2.18x107 ! erg
BIO#EZ 2L X — Mec? 0.511 MeV
B DIk = 7 )L ¥ — mpc? 0.938 GeV
7T BAEH
RS 3 P e a=m2k*/15¢30%  7.57x10715 erg em ™3 K4
AT 7T V-RVYRVER o =ac/d 5.67x1075 erg em~2 K4 571
BRONIREE R T Aax 0.290 cm K
8 IRILF—FEXK
PN Lo  3.8x10% erg s—!
e i R S5 0 My = 4.75 — 2.5log(L/ L)
HECTHR ST G 0 55 52 D i S 3.0x10% erg s7!
TR 0 RO S 2.5x107% erg cm ™2 57!
FoF D&k m = M + 5log(Dlpc]) — 5+ ZEFWEIND K E S
9 FHm
Ny TIVIERL H, 100 h km s~! Mpe™! = 3.2Ax 10718 571
Ny 7OVIREH 1/Hy 9.8x10°0~! year
Ny 7OV ¢/Ho 3000h~" Mpc
Wy L pe = (3H2)/(87G) 1.9x1072°h2 g cm™3 =2.8x10''h? MyMpc 3
T AR R B L pro = aT 4.0x10713[T,/2.7K]* erg cm =3
FH BRI BEE  no 4.0x10%[Ty0/2.7K]? cm™3
10 Z At
] = [MLT?], [= %)V ¥ =] = [ML*T?], [[£/]] = [ML™'T?|

1 gem™ = 5.99%x10% proton cm™2 = 5.61x10%? eV em ™3 = 1.48x10° M, Mpc~3
1J=1x107 ergs, 1 cal = 4.19 J

1Jy=10"2ergem 2 s ! Hz7! =10726 Jm=2 s~ ! Hz !

760 torr = 1.013x10% dyn em ™2 = 1 atmos = 1.013 bars = 1.013x10° N m~2 (Pa)
e=2.7183, log e=0.4343=(In10)"*, log 2 = 0.301, In 2 = 0.693, log3 = 0.477, In 3 = 1.10
1 radian = 57.296 degrees, 1 arcsec = 4.848x10~6 radians



